Math 262 — 25 October 2019
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5. Let Y be a random variable with pdf given by f (7) _ly f0=y=<2
0 otherwise.

(a) Find a value 7,5 such that P(Y < 1n4,5) = 0.25.
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(b) What is the median, of Y?
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1. Let U ~ Unif[0,5]. —— pot
(a) What are the mean and variance of U? % [
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(b) Let V = 3U + 2. What are the mean and variance of V? \/“O::z N “
(
me. E(V) = €(30+2) = E(V)12 = 33 ¢2= Fa- & o~ fA,8]
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(c) What kind of distribution does V have? How do you know?
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5 ifo<y<2,

2. Let Y be arandom variable with pdf givenby f(y) =
0 otherwise.

(a) What is the expected value of Y?

C(W)= (1@ - [[£4 = 2|
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(b) What is E(Y?)?
z 2 3 )z 2
E(Ylﬁ:i“{l(a”{"/:fé%”?i %—/o_ 7O 2
(c) What is Var(Y)?
/ 2 2 2 2
Vo (V) = E(Y)-E(Y)= 2-(0 =y-2- &
(d) What is the moment generating function My (t)? judu T ‘f\jdw
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3. Let X ~ Unif[A, B]. Show that the mgf of X is My (t) = {m ift + 0.

1 ift=0
Then use properties of mgfs to verify your answer for 1(c).
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